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for i in s:

sl=1i

for j in (1):

if s1[0:1]
t (
t=t[2:]
tl=tl+t
if s1[0:1]
t=s1[1:]
t1=tl+t
if s1[0:1]
i (
t=t[2:]
t1=tl+t
if s1[0:1]
i (
t=t[2:]
t1=tl1+t
print(tl)

for j in (1):

if i[e]
sl (
print(
if i[e]
sl (
print(
if i[e]
sl (
print(
if i[e]
sl (
print(

(si[1:])))

(s1[1:],8)))

(i[1:]))
(s1)),end

(i[1:]1,16))
(s1)),end

(i[1:],8))
(s1)),end

(i[1:],2))
(s1)),end




BATREIT 5163 K -

BATREIX — B 7N B e 0 7 1 o IO TR ST 15 21

Welcome to kelaibei.

Give you a flag as a gift.flag{le4bf8la6394de5abc@B5ac6e39a387b} . Have a good time~

Fi UAflagBP -
flag{1e4bf81a6394de5abc005ac6e39a387b}



	BugkuCTF-Crypto题进制转换

